

A GENERALIZATION OF A COMBINATORIAL IDENTITY WITH APPLICATIONS TO HIGHER BINOMIAL MOMENTS

LUIS GONZÁLEZ and ANGELO SANTANA

Department of Mathematics
University of Las Palmas de Gran Canaria
Campus de Tafira
35017 Las Palmas de Gran Canaria
Spain
e-mail: luisglez@dma.ulpgc.es

Abstract

A well-known combinatorial identity involving sums of integer powers is generalized. This generalization provides a new recurrence relation for the raw moments of the binomial distribution. Further, a similar recurrence relation for the central moments is derived. All these moments are recursively obtained from the corresponding moment of order zero, i.e., the unity.

1. Introduction

The calculation of the sum of the k -th powers (k positive integer) of the first n positive integers

$$S_k(n) = \sum_{j=1}^n j^k$$

has long interested mathematicians. For instance, the Bernoulli numbers B_n , usually defined by their exponential generating function

2000 Mathematics Subject Classification: 11B68, 05A19, 60E05.

Keywords and phrases: sums of integer powers, combinatorial identity, raw binomial moments, central binomial moments.

Received May 8, 2009

$$\frac{x}{e^x - 1} = \sum_{n=0}^{\infty} \frac{B_n}{n!} x^n, \quad |x| < 2\pi$$

were first studied by Jakob Bernoulli while computing the sums $S_k(n)$ [2]. In this context, the famous Faulhaber's formula (see, e.g., [7]), published in a 1631 edition of *Academiae Algebrae*,

$$S_k(n) = \frac{1}{k+1} \sum_{j=1}^{k+1} (-1)^{\delta_{jk}} \binom{k+1}{j} B_{k+1-j} n^j,$$

where δ_{jk} is the Kronecker delta, provides a closed form of the sum $S_k(n)$ as a polynomial in n of degree $k+1$, the coefficients involving Bernoulli numbers. A generalization of the Faulhaber's formula to complex powers with real part greater than -1 can be found in [9].

Regarding the positive integer case ($k \in \mathbb{N}$), among the many recent works dealing with the sums $S_k(n)$ (see, e.g., [3] and the references contained therein), in this paper, we focus our attention on the following recursion formula [5], which can be immediately derived using the binomial theorem

$$n^r = 1 + \sum_{k=0}^{r-1} \binom{r}{k} S_k(n-1) = 1 + \sum_{k=0}^{r-1} \binom{r}{k} \sum_{j=1}^{n-1} j^k. \quad (1.1)$$

Denoting $m_j^k := j^k$ ($1 \leq j \leq n$, $0 \leq k \leq r$), Equation (1.1) can be rewritten as the recurrence relation

$$m_n^r = 1 + \sum_{k=0}^{r-1} \binom{r}{k} \sum_{j=1}^{n-1} m_j^k, \quad (1.2)$$

where $m_j^0 = j^0 = 1$ for all $j = 1, \dots, n-1$.

With this reformulation (1.2) of Equation (1.1), we can consider its following natural generalization, obtained simply by multiplying the right-hand side of (1.2) by a real parameter p ($0 < p \leq 1$), i.e.,

$$m_{n,p}^r = p \left\{ 1 + \sum_{k=0}^{r-1} \binom{r}{k} \sum_{j=1}^{n-1} m_{j,p}^k \right\}, \quad (1.3)$$

where $m_{j,p}^0 = 1$ for all $j = 1, \dots, n-1$ and for all $p \in (0, 1]$.

Of course, for $p = 1$ Equation (1.3) becomes Equation (1.2) (which is equivalent to (1.1)), but what happens with Equation (1.3) when $0 < p < 1$?

The main goal of this paper is to prove that for $0 < p < 1$, the value $m_{n,p}^r$ obtained by Equation (1.3) is the r -th raw moment (about the origin) in the binomial frequency distribution $B(n, p)$, for all $n \geq 2$, $r \geq 1$ and $0 < p < 1$. In this way, the recursion formula (1.1) for power sums is generalized to the new algebraic recursion formula (1.3) for binomial moments.

By the way, we obtain a recurrence relation that generalizes (from $p = 1/2$ to an arbitrary parameter $0 < p < 1$) the following recursive formula, derived in [1], for the raw moments of the binomial distribution $B(n, \frac{1}{2})$

$$m_{n,\frac{1}{2}}^r = n \left(m_{n,\frac{1}{2}}^{r-1} - \frac{1}{2} m_{n-1,\frac{1}{2}}^{r-1} \right). \quad (1.4)$$

Moreover, we also obtain a recursion formula, similar to Equation (1.3), for the central moments (about the mean np) of $B(n, p)$.

Throughout this paper we shall denote the r -th raw moment of $X \sim B(n, p)$ by

$$m_{n,p}^r := E[X^r] = \sum_{k=0}^n k^r p^k (1-p)^{n-k} \binom{n}{k} \text{ for all } r \geq 1, m_0^{n,p} = 1 \quad (1.5)$$

and the r -th central moment of $X \sim B(n, p)$ by

$$\mu_{n,p}^r := E[(X - np)^r] = \sum_{k=0}^n (k - np)^r p^k (1-p)^{n-k} \binom{n}{k} \text{ for all } r \geq 1, \mu_0^{n,p} = 1. \quad (1.6)$$

In particular, for the Bernoulli distribution $B(1, p)$, we have, for all $r \geq 1$

$$m_{1,p}^r = \sum_{k=0}^1 k^r p^k (1-p)^{1-k} \binom{1}{k} = p, \quad (1.7)$$

$$\begin{aligned} \mu_{1,p}^r &= \sum_{k=0}^1 (k - p)^r p^k (1-p)^{1-k} \binom{1}{k} = (-p)^r (1-p) + (1-p)^r p \\ &= p(1-p) [(-1)^r p^{r-1} + (1-p)^{r-1}]. \end{aligned} \quad (1.8)$$

As is well-known, one can compute higher order moments about the origin of $X \sim B(n, p)$ using its characteristic function or its moment generating function; see, e.g., [8, 10]. A different combinatorial approach for obtaining higher order raw binomial moments that uses the factorial moments can be found in [6]. Let us denote by $X^{\underline{r}} = X(X-1)\dots$

$(X-r+1)$ the falling factorial and by $m_{n,p}^{\underline{r}} := E[X^{\underline{r}}]$ the r -th factorial moment of the binomial distribution $B(n, p)$. Then, in that work, the authors use the well-known expression for the Stirling numbers of the second kind $S(r, k)$ [4]

$$X^r = \sum_{k=1}^r S(r, k) X^{\underline{k}}$$

and take expectations in the both sides to get

$$m_{n,p}^r = \sum_{k=1}^r S(r, k) m_{n,p}^{\underline{k}} = \sum_{k=1}^r S(r, k) n^{\underline{k}} p^k,$$

since the k -th factorial moment of the binomial distribution $B(n, p)$ is given by $m_{n,p}^{\underline{k}} = n^{\underline{k}} p^k$ [8].

Then, the central moments can be expressed in terms of the raw moments simply using the binomial theorem [10].

Alternatively, the combinatorial formulas presented here for obtaining the raw (central, respectively) moments of order r of $X \sim B(n, p)$ exclusively involve raw (central, respectively) moments of lower orders, and they will enable one to obtain the general expressions of all moments of $B(n, p)$ from the moment of order zero, i.e., $E[1] = 1$.

In Section 2, we present a simple recursive combinatorial formula from which all recurrence relations will be obtained. Sections 3 and 4 are, respectively, devoted to obtain the recurrence relations for the binomial raw and central moments. Finally, in Section 5, we present some closing remarks.

2. A Basic Lemma

The next lemma provides us with a simple recursive combinatorial formula, that will be used in the next two sections.

Lemma 2.1. *Let n be a positive integer and $a_0, a_1, \dots, a_n \in \mathbb{R}$. Then*

$$\sum_{i=0}^n a_i \binom{n}{i} = \sum_{i=0}^{n-1} (a_i + a_{i+1}) \binom{n-1}{i}. \quad (2.1)$$

Proof. For $n = 1$, the formula is obvious. Otherwise, we have

$$\begin{aligned} \sum_{i=0}^n a_i \binom{n}{i} &= a_0 \binom{n}{0} + \sum_{i=1}^{n-1} a_i \binom{n}{i} + a_n \binom{n}{n} \\ &= a_0 \binom{n-1}{0} + \sum_{i=1}^{n-1} a_i \left[\binom{n-1}{i} + \binom{n-1}{i-1} \right] + a_n \binom{n-1}{n-1} \\ &= \sum_{i=0}^{n-1} a_i \binom{n-1}{i} + \sum_{i=1}^n a_i \binom{n-1}{i-1} \\ &= \sum_{i=0}^{n-1} a_i \binom{n-1}{i} + \sum_{h=0}^{n-1} a_{h+1} \binom{n-1}{h} = \sum_{i=0}^{n-1} (a_i + a_{i+1}) \binom{n-1}{i}. \quad \square \end{aligned}$$

In the next two sections, we get some recurrence relations for the raw and central binomial moments, simply assigning the adequate values to the parameters α_k in Equation (2.1).

3. Raw Moments

In the next proposition, we establish a natural generalization of Equation (1.4).

Proposition 3.1. *Let $n \geq 2$ and $0 < p < 1$. Then for all $r \geq 1$*

$$m_{n,p}^r = n(m_{n,p}^{r-1} - (1-p)m_{n-1,p}^{r-1}).$$

Proof. Using formula (2.1) with $\alpha_k = k^r p^k (1-p)^{n-k}$ ($0 \leq k \leq n$), we get

$$\begin{aligned} m_{n,p}^r &= \sum_{k=0}^n k^r p^k (1-p)^{n-k} \binom{n}{k} \\ &= \sum_{k=0}^{n-1} \left[k^r p^k (1-p)^{n-k} + (k+1)^r p^{k+1} (1-p)^{n-(k+1)} \right] \binom{n-1}{k} \\ &= (1-p) \sum_{k=0}^{n-1} k^r p^k (1-p)^{(n-1)-k} \binom{n-1}{k} \\ &\quad + \sum_{k=0}^{n-1} (k+1)^r p^{k+1} (1-p)^{n-(k+1)} \frac{k+1}{n} \binom{n}{k+1} \\ &= (1-p) m_{n-1,p}^r + \frac{1}{n} \sum_{h=0}^n h^{r+1} p^h (1-p)^{n-h} \binom{n}{h} \\ &= (1-p) m_{n-1,p}^r + \frac{1}{n} m_{n,p}^{r+1}, \end{aligned}$$

and then

$$m_{n,p}^{r+1} = n(m_{n,p}^r - (1-p)m_{n-1,p}^r), \text{ i.e., } m_{n,p}^r = n(m_{n,p}^{r-1} - (1-p)m_{n-1,p}^{r-1}). \quad \square$$

For proving Equation (1.3), we need the following lemma. The proof of this lemma is analogous to the one of Proposition 3.1: We use again formula (2.1), but now with a different algebraic manipulation.

Lemma 3.1. *Let $n \geq 2$ and $0 < p < 1$. Then for all $r \geq 1$*

$$m_{n,p}^r = m_{n-1,p}^r + p \sum_{k=0}^{r-1} \binom{r}{k} m_{n-1,p}^k. \quad (3.1)$$

Proof. Using Equation (1.5) and formula (2.1) with $\alpha_i = i^r p^i$ ($(1-p)^{n-i}$ ($0 \leq i \leq n$)), we get

$$\begin{aligned} m_{n,p}^r &= \sum_{i=0}^n i^r p^i (1-p)^{n-i} \binom{n}{i} \\ &= \sum_{i=0}^{n-1} [i^r p^i (1-p)^{n-i} + (i+1)^r p^{i+1} (1-p)^{n-(i+1)}] \binom{n-1}{i} \\ &= (1-p) \sum_{i=0}^{n-1} i^r p^i (1-p)^{(n-1)-i} \binom{n-1}{i} \\ &\quad + p \sum_{i=0}^{n-1} (i+1)^r p^i (1-p)^{(n-1)-i} \binom{n-1}{i} \\ &= (1-p) m_{n-1,p}^r + p \sum_{i=0}^{n-1} \left[1 + \sum_{k=1}^r \binom{r}{k} i^k \right] p^i (1-p)^{(n-1)-i} \binom{n-1}{i} \\ &= (1-p) m_{n-1,p}^r + p [p + (1-p)]^{n-1} \\ &\quad + p \sum_{k=1}^r \binom{r}{k} \sum_{i=0}^{n-1} i^k p^i (1-p)^{(n-1)-i} \binom{n-1}{i} \\ &= (1-p) m_{n-1,p}^r + p + p \sum_{k=1}^r \binom{r}{k} m_{n-1,p}^k \end{aligned}$$

$$\begin{aligned}
&= (1-p)m_{n-1,p}^r + pm_{n-1,p}^r + p \sum_{k=0}^{r-1} \binom{r}{k} m_{n-1,p}^k \\
&= m_{n-1,p}^r + p \sum_{k=0}^{r-1} \binom{r}{k} m_{n-1,p}^k. \quad \square
\end{aligned}$$

Using Lemma 3.1, we immediately obtain Equation (1.3) in the next proposition.

Proposition 3.2. *Let $n \geq 2$ and $0 < p < 1$. Then for all $r \geq 1$*

$$m_{n,p}^r = p \left\{ 1 + \sum_{k=0}^{r-1} \binom{r}{k} \sum_{j=1}^{n-1} m_{j,p}^k \right\}.$$

Proof. Applying recursively formula (3.1) and using Equation (1.7), we get

$$\begin{aligned}
m_{n,p}^r &= m_{n-1,p}^r + p \sum_{k=0}^{r-1} \binom{r}{k} m_{n-1,p}^k = m_{n-2,p}^r + p \sum_{k=0}^{r-1} \binom{r}{k} (m_{n-2,p}^k + m_{n-1,p}^k) \\
&= \dots = m_{1,p}^r + p \sum_{k=0}^{r-1} \binom{r}{k} (m_{1,p}^k + \dots + m_{n-1,p}^k) \\
&= p + p \sum_{k=0}^{r-1} \binom{r}{k} \sum_{j=1}^{n-1} m_{j,p}^k = p \left\{ 1 + \sum_{k=0}^{r-1} \binom{r}{k} \sum_{j=1}^{n-1} m_{j,p}^k \right\}. \quad \square
\end{aligned}$$

Example 3.1. Using Equation (1.3) and, as unique background, the obvious fact that $m_{j,p}^0 = E[1] = 1$ for all $j \in \mathbb{N}$, we can recursively compute all raw moments, e.g.,

$$\begin{aligned}
m_{n,p}^1 &= p \left\{ 1 + \sum_{i=0}^0 \binom{1}{i} \sum_{j=1}^{n-1} m_{j,p}^i \right\} = p \left(1 + \sum_{j=1}^{n-1} m_{j,p}^0 \right) = p \left(1 + \sum_{j=1}^{n-1} 1 \right) = np, \\
m_{n,p}^2 &= p \left\{ 1 + \sum_{i=0}^1 \binom{2}{i} \sum_{j=1}^{n-1} m_{j,p}^i \right\} = p \left(1 + \sum_{j=1}^{n-1} m_{j,p}^0 + 2 \sum_{j=1}^{n-1} m_{j,p}^1 \right)
\end{aligned}$$

$$\begin{aligned}
&= p \left(1 + \sum_{j=1}^{n-1} 1 + 2p \sum_{j=1}^{n-1} j \right) = n^2 p^2 + np(1-p), \\
m_{n,p}^3 &= p \left\{ 1 + \sum_{i=0}^2 \binom{3}{i} \sum_{j=1}^{n-1} m_{j,p}^i \right\} = p \left(1 + \sum_{j=1}^{n-1} m_{j,p}^0 + 3 \sum_{j=1}^{n-1} m_{j,p}^1 + 3 \sum_{j=1}^{n-1} m_{j,p}^2 \right) \\
&= p \left(1 + \sum_{j=1}^{n-1} 1 + 3p \sum_{j=1}^{n-1} j + 3p^2 \sum_{j=1}^{n-1} j^2 + 3p(1-p) \sum_{j=1}^{n-1} j \right) \\
&= n^3 p^3 + 3n^2 p^2 (1-p) + np(1-p)(1-2p).
\end{aligned}$$

4. Central Moments

The formula (1.3), for the raw moments, can be established for central moments $\mu_{n,p}^r$ of order r of $B(n, p)$. Now the proof is similar to the one used for Proposition 3.2, although a bit more complicated because the mean jp of $B(j, p)$ depends on the parameter j , $1 \leq j \leq n$.

Lemma 4.1. *Let $n \geq 2$ and $0 < p < 1$. Then for all $r \geq 2$*

$$\mu_{n,p}^r = \mu_{n-1,p}^r + p(1-p) \sum_{i=0, i \neq 1}^{r-2} \binom{r}{i} S_{i,r} \mu_{n-1,p}^i, \quad (4.1)$$

where $S_{i,r} := (-1)^{r-i} p^{r-i-1} + (1-p)^{r-i-1}$ for all $i = 0, 1, \dots, r-1$.

Proof. Using Equation (1.6) and formula (2.1) with $\alpha_k = (k - np)^r p^k (1-p)^{n-k}$ ($0 \leq k \leq n$), and denoting, for short, $\Pi_k := p^k (1-p)^{(n-1)-k} \binom{n-1}{k}$ for every $k = 0, 1, \dots, n-1$, we get

$$\begin{aligned}
\mu_{n,p}^r &= \sum_{k=0}^n (k - np)^r p^k (1-p)^{n-k} \binom{n}{k} \\
&= \sum_{k=0}^{n-1} \left[(k - np)^r p^k (1-p)^{n-k} + (k+1 - np)^r p^{k+1} (1-p)^{n-(k+1)} \right] \binom{n-1}{k}
\end{aligned}$$

$$\begin{aligned}
&= \sum_{k=0}^{n-1} [(k - np)^r (1 - p) + (k - np + 1)^r p] \Pi_k \\
&= \sum_{k=0}^{n-1} \{ [(k - (n - 1)p) - p]^r (1 - p) + [(k - (n - 1)p) + (1 - p)]^r p \} \Pi_k \\
&= \sum_{k=0}^{n-1} \sum_{i=0}^r \binom{r}{i} (k - (n - 1)p)^i [(-p)^{r-i} (1 - p) + (1 - p)^{r-i} p] \Pi_k \\
&= \sum_{k=0}^{n-1} (k - (n - 1)p)^r \Pi_k \\
&\quad + \sum_{k=0}^{n-1} \sum_{i=0}^{r-1} \binom{r}{i} (k - (n - 1)p)^i [(-p)^{r-i} (1 - p) + (1 - p)^{r-i} p] \Pi_k \\
&= \mu_{n-1, p}^r \\
&\quad + \sum_{k=0}^{n-1} \sum_{i=0}^{r-1} \binom{r}{i} (k - (n - 1)p)^i [(-p)^{r-i} (1 - p) + (1 - p)^{r-i} p] \Pi_k \\
&= \mu_{n-1, p}^r \\
&\quad + \sum_{i=0}^{r-1} \binom{r}{i} [(-p)^{r-i} (1 - p) + (1 - p)^{r-i} p] \sum_{k=0}^{n-1} (k - (n - 1)p)^i \Pi_k \\
&= \mu_{n-1, p}^r + \sum_{i=0}^{r-1} \binom{r}{i} [(-p)^{r-i} (1 - p) + (1 - p)^{r-i} p] \mu_{n-1, p}^i \\
&= \mu_{n-1, p}^r + p(1 - p) \sum_{i=0}^{r-1} \binom{r}{i} [(-1)^{r-i} p^{r-i-1} + (1 - p)^{r-i-1}] \mu_{n-1, p}^i \\
&= \mu_{n-1, p}^r + p(1 - p) \sum_{i=0}^{r-1} \binom{r}{i} S_{i, r} \mu_{n-1, p}^i \\
&= \mu_{n-1, p}^r + p(1 - p) \sum_{i=0, i \neq 1}^{r-2} \binom{r}{i} S_{i, r} \mu_{n-1, p}^i,
\end{aligned}$$

since, for $i = 1 : \mu_{n-1,p}^1 = 0$, while for $i = r - 1 : S_{r-1,r} = 0$. \square

In the next proposition, we present our recurrence relation for the central moments.

Proposition 4.1. *Let $n \geq 2$ and $0 < p < 1$. Then for all $r \geq 2$*

$$\mu_{n,p}^r = p(1-p) \left\{ S_{0,r} + \sum_{i=0, i \neq 1}^{r-2} \binom{r}{i} S_{i,r} \sum_{j=1}^{n-1} \mu_{j,p}^i \right\}, \quad (4.2)$$

where $S_{i,r} := (-1)^{r-i} p^{r-i-1} + (1-p)^{r-i-1}$ for all $i = 0, 2, \dots, r-2$.

Proof. Applying recursively formula (4.1) and using Equation (1.8), we get

$$\begin{aligned} \mu_{n,p}^r &= \mu_{n-1,p}^r + p(1-p) \sum_{i=0, i \neq 1}^{r-2} \binom{r}{i} S_{i,r} \mu_{n-1,p}^i \\ &= \mu_{n-2,p}^r + p(1-p) \sum_{i=0, i \neq 1}^{r-2} \binom{r}{i} S_{i,r} (\mu_{n-2,p}^i + \mu_{n-1,p}^i) \\ &= \dots = \mu_{1,p}^r + p(1-p) \sum_{i=0, i \neq 1}^{r-2} \binom{r}{i} S_{i,r} (\mu_{1,p}^i + \dots + \mu_{n-1,p}^i) \\ &= p(1-p) \left[(-1)^r p^{r-1} + (1-p)^{r-1} \right] + p(1-p) \sum_{i=0, i \neq 1}^{r-2} \binom{r}{i} S_{i,r} \sum_{j=1}^{n-1} \mu_{j,p}^i \\ &= p(1-p) \left\{ S_{0,r} + \sum_{i=0, i \neq 1}^{r-2} \binom{r}{i} S_{i,r} \sum_{j=1}^{n-1} \mu_{j,p}^i \right\}. \quad \square \end{aligned}$$

Example 4.1. Using Equation (4.2) and, as unique background, the obvious fact that $\mu_{j,p}^0 = E[1] = 1$ for all $j \in \mathbb{N}$, we can recursively compute all central moments, e.g.,

$$\begin{aligned}
\mu_{n,p}^2 &= p(1-p) \left\{ S_{0,2} + \sum_{i=0, i \neq 1}^0 \binom{2}{i} S_{i,2} \sum_{j=1}^{n-1} \mu_{j,p}^i \right\} \\
&= p(1-p) \left(1 + \sum_{j=1}^{n-1} \mu_{j,p}^0 \right) = p(1-p) \left(1 + \sum_{j=1}^{n-1} 1 \right) = np(1-p), \\
\mu_{n,p}^3 &= p(1-p) \left\{ S_{0,3} + \sum_{i=0, i \neq 1}^1 \binom{3}{i} S_{i,3} \sum_{j=1}^{n-1} \mu_{j,p}^i \right\} \\
&= p(1-p)(1-2p) \left(1 + \sum_{j=1}^{n-1} \mu_{j,p}^0 \right) \\
&= p(1-p)(1-2p) \left(1 + \sum_{j=1}^{n-1} 1 \right) = np(1-p)(1-2p), \\
\mu_{n,p}^4 &= p(1-p) \left\{ S_{0,4} + \sum_{i=0, i \neq 1}^2 \binom{4}{i} S_{i,4} \sum_{j=1}^{n-1} \mu_{j,p}^i \right\} \\
&= p(1-p) \left((3p^2 - 3p + 1) \left(1 + \sum_{j=1}^{n-1} \mu_{j,p}^0 \right) + 6 \sum_{j=1}^{n-1} \mu_{j,p}^2 \right) \\
&= p(1-p) \left((3p^2 - 3p + 1) \left(1 + \sum_{j=1}^{n-1} 1 \right) + 6p(1-p) \sum_{j=1}^{n-1} j \right) \\
&= np(1-p)[1 + 3(n-2)p(1-p)].
\end{aligned}$$

5. Closing Remarks

A natural generalization of the binomial identity (1.1) led to a new recurrence relation for the raw moments of the binomial distribution (Propositions 3.2). A similar expression was derived for the central moments (Proposition 4.1). The following properties of such two expressions can be highlighted.

Remark 5.1. Equations (1.3) and (4.2) enable one to obtain all raw and central binomial moments, respectively, of any order r , simply starting from the moment of order zero, i.e., the unity. Moreover, for every given parameters, n , p , the recursive character of these formulas naturally leads to easily implementable algorithms for rapidly computing all (raw and central) moments of $B(n, p)$.

Remark 5.2. The formulas (3.1) and (1.3), established for the raw moments, can be generalized for general moments of order r of $B(n, p)$ about an arbitrary point a , denoted by $M_{n,p}^r(a)$. More precisely, taking into account that

$$m_{j,p}^i = M_{j,p}^i(0) \quad (0 \leq i \leq r, 1 \leq j \leq n),$$

then simply writing $M_{j,p}^i(a)$ instead of $m_{j,p}^i$ all along the proofs of Lemma 3.1 and Proposition 3.2, we get the following generalizations of Equations (3.1) and (1.3)

$$M_{n,p}^r(a) = M_{n-1,p}^r(a) + p \sum_{i=0}^{r-1} \binom{r}{i} M_{n-1,p}^i(a),$$

$$M_{n,p}^r(a) = p \left\{ 1 + \sum_{i=0}^{r-1} \binom{r}{i} \sum_{j=1}^{n-1} M_{j,p}^i(a) \right\}.$$

Remark 5.3. As Example 3.1 shows, the recursion formula (1.3) expresses the raw binomial moments $m_{n,p}^r$ in terms of the power sums $S_k(n-1)$, in a similar way as Equation (1.1)-our starting point-expresses n^r in terms of those power sums, e.g.,

$$m_{n,p}^1 = p \left(1 + \binom{1}{0} S_0(n-1) \right),$$

$$m_{n,p}^2 = p \left(1 + \binom{2}{0} S_0(n-1) + \binom{2}{1} p S_1(n-1) \right),$$

$$m_{n,p}^3 = p \left(1 + \binom{3}{0} S_0(n-1) + \binom{3}{1} p(2-p) S_1(n-1) + \binom{3}{2} p^2 S_2(n-1) \right).$$

References

- [1] A. Bényi and S. M. Manago, A recursive formula for moments of a binomial distribution, *College Math. J.* 36 (2005), 68-72.
- [2] J. H. Conway and R. K. Guy, *The Book of Numbers*, Springer-Verlag, New York, 1996.
- [3] F. Dubeau, Linear algebra and the sums of powers of integers, *Electron. J. Linear Algebra* 17 (2008), 577-596.
- [4] R. L. Graham, D. E. Knuth and O. Patashnik, *Concrete Mathematics: A Foundation for Computer Science*, 2nd ed., Addison-Wesley, Reading, MA, 1994.
- [5] S. L. Guo and F. Qi, Recursion formulae for $\sum_{m=1}^n m^k$, *J. Anal. Appl.* 18 (1999), 1123-1130.
- [6] A. H. Joarder and M. Mahmood, An inductive derivation of Stirling numbers of the second kind and their applications in Statistics, *J. Appl. Math. & Decision Sc.* 1 (1997), 151-157.
- [7] D. E. Knuth, Johann Faulhaber and sums of powers, *Math. Comp.* 203 (1993), 277-294.
- [8] V. S. Koroliuk, A. V. Portenko, A. B. Skorokhod and A. F. Turbin, *Handbook of Probability Theory and Mathematical Statistics*, Nauka, Moscow, 1985.
- [9] K. J. McGown and R. Harold, The generalization of Faulhaber's formula to sums of non-integral powers, *J. Math. Anal. Appl.* 330 (2007), 571-575.
- [10] A. Stuart and J. K. Ord, *Kendall's Advanced Theory of Statistics: Distribution Theory*, Vol. 1, 6th ed., Edward Arnold, London, 1994.

